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Foundation Tier
Instructions

· The time for the test is 1 hour.

· Answer all questions. 

· [image: image16.jpg]


Answer the questions in the spaces provided 
– there may be more space than you need.

· Questions that require a calculator are marked with the symbol         .

Information

· The total mark for this paper is 50.

· The marks for each question are shown 
– use this as a guide as to how much time to spend on each question. 

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.
1
Work out the mean of    6, 10, 12, 15, 7.
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........................................

(1 mark)

2
The stem and leaf diagram shows the time in minutes that a group of people spent in a supermarket one Saturday.
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a
Find the median time.

........................................ minutes
(2 marks)


b
Work out the range.

........................................ minutes
(1 marks)

3
a
Work out the size of angle x. Give the reason for your answer.
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x = ........................................°
....................................................................................................................................................................

....................................................................................................................................................................

(1 mark)


b
Work out the size of angles y and z. Give reasons for your answers.



[image: image3.jpg]



y = ........................................°
....................................................................................................................................................................

....................................................................................................................................................................

z = ........................................°
....................................................................................................................................................................

....................................................................................................................................................................

(2 marks)

4
a
Work out the size of angle a.
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a = ........................................°
(2 marks)


b
Work out the size of angle b.
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b = ........................................°
 (2 marks)

5
Work out the area of this shape.
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........................................ cm2
(3 marks)

6
The area of this parallelogram is 48 cm2.

Work out the length a.
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........................................ cm
(1 mark)

7
Work out the size of angles a and b in this regular hexagon.
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a = ........................................°

b = ........................................°
(4 marks)

8
John is training to run in a 100 m competition. Here are his times.

10.3
11.5
11.6
11.4
11.3
11.2
11.7
19.3
10.3

a
Which would be the most appropriate average to use for John’s times? Explain your reasons.

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(2 marks)


b
Explain why the other two averages do not represent John’s times very well.

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

....................................................................................................................................................................

(2 marks)

9
Calculate the area of this trapezium.
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........................................ cm2
(2 marks)

10
The mean of 4 numbers is 10. 


The mean of a different set of 8 numbers is 7. 


What is the mean of all 12 numbers?
........................................

(3 marks)

11
The diagram shows a right-angled prism.
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Calculate:


a
the volume of the prism,

........................................ cm3
(2 marks)


b
the surface area.

........................................ cm2
(3 marks)

12
The table gives the distance in metres that students threw a javelin in a competition.
	Distance, d metres
	Frequency

	0 < d ≤ 10
	1

	10 < d ≤ 20
	2

	20 < d ≤ 30
	8

	30 < d ≤ 40
	15

	40 < d ≤ 50
	12

	50 < d ≤ 60
	2



a
Work out an estimate of the mean distance.

........................................ metres
(3 marks)


b
Which is the modal class?

........................................

(1 mark)

13
 A school has 800 students in KS3 and KS4.


There are 320 students in KS3. 


John wants to do a sample of 50 students. 


How many students should he select from KS4?
........................................

(2 marks)

14
 Work out the size of one of the exterior angles of a regular 9 sided polygon.
........................................°

(1 marks)

15
This cuboid has a volume of 90 cm3.
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Work out the surface area.
........................................ cm2
(4 marks)

16
 A room is in the shape of a rectangle, 5 m by 8 m. 


Work out the area of the room in

a
square metres,
........................................ m2
(1 mark)


b
square centimetres.
........................................ cm2
(1 mark)

17
The diagram shows two angles on parallel lines.
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a
Work out the value of x.

x = ........................................

(2 marks)


b
Work out the size of the angles.

........................................

(2 marks)

TOTAL FOR PAPER = 50 MARKS[image: image13.jpg]
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